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Prestressed Concrete m/2556

(15 Point) Problem 1: assuamaiminussynas Aldwinilanidulldvosaunsunindause dsfuthuin
ussnaiiaue Tnsauneunindnussiivindadindouiiuinnas vuinniie 70 cm ge 95 cm mumsunindausady
AMutrafieInuen 12 m medauswunidaininarsauiufuandugy @uinmigiunndu) Seeusdn
Ussvsuaidesanidumaitimuswiniy 280,000 kg

AasduTiseulife.

For the top extreme fiber: concrete stress @ mid span < 70 ksc (compression)

For the bottom extreme fiber: concrete stress @ mid span > - 17.45 ksc (tension)
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(10 Point) Problem 2: uriuiupaundnsause WamiuaLes e ¢ was widadiduaindaussuuin PCSA
Fru 5 Wuimuslimevdinsdeieusadiguinity usdudumadoun 0756,

2.1) wdnaamanudilursuniafimumisdunsedvesmnsauss srannizladouss @renansenuen)

2.2) s munausaaigydeiiosnnuaroamvadusuudaain (elastic shortening).
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dedavaImunia: g =250 ksc  E. =15,200 f°°
WUAINSALTE fos = 16,500 ksC Eps = 1.9 (10%) Ags = 5-PC5A = 0.981 cm?
Egf,
“=nf,
o=t

e

Elastic shortening loss: N s =
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(10 Point) Problem 3: wiufiurounindnussandgymiden 2 sgneldannsdadanuiuduivs 75% wazdnin
AMYAIAIANEUY 1R 110 ke/m? AsFmnsgdsussdnvauiuiufinaraiioannainnaves Steel Relaxation
lnglH1ms37U EIT Standard: RE = 1270 - 0.4ES — 0.2(SH+CR) ; SH = 1200 — 11RH ; CR = 12fuy — Tfeas



Prestressed Concrete m/2556

(20 Point) Problem 4: A1uApuUNIASALTIRBLTDIABYY Huunduaindausanuinsianilugy Mdausiniu
ApunInfInaMNsEilaeyinsisaandenfuiaesUate

4.1) RAnnavINsagydsussdaiewinuavesanudeaniu SduUssns W = 0.45 uay K = 0.0021 fuualwldis
the conventional method TasusnfiansaniBudiug

4.2) waAunUszanuszezia (Elongation) veuduaiafivats A dnduaiafivaiy A gnAsauiianuiduyssaiu

12500 ksc waig Eps = 2.0(10°) ksc laald35usennna1lady G, way 33 the conventional method laguanfiasan
Wudwg  Amualdenuemaiaussanavinduanudisluiunsedu

A[\___/ X ~~______———]
B G '\' o
———/ Symmetrical tendon profile
T =!
6m 8m 6m 4m 24m
Eccentricity of tendon:
Position Above center line (m) Below center line (m)
A 0 0
B - 0.26
mid-point between B and C 0 0.40
C - 0.26
D 0.35 -
E 0.50 -
Friction loss: Af, =f —f, =f(1—e #*7)
Elongation:

8avg = (f1+f2 )L/(ZAEps)
Elongation (conventional method): 8 = (f2 L/ A Egs) (1-e 4" / (na + KL )
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(20 Point) Problem 5: AupBuN3ASALSITINAYL Tudhdnguieaiufu Problem 1 dussdnudumendanisld

dheuseiriiu 280 fu Ansardousidnuszana 15% veensadniEudy

5.1) asdwmmAanuiduuumign (Mg meldanngvdinsdsmeusadofanisgedousssn

5.2) AwrammAIAuULGR (@ifanareeue) meldanmennsldo dasuihminaiuave (s
thwiinenw) 2000 kg/m

5.3) mﬁwmmﬁmﬁnuisnﬂaﬂ%auaﬁmnﬁqﬂdaummﬁmmmmﬂ%n lugdanisuanindanviniu - 42.8 ksc

5.4) aramsdsuwasmuduludumadomntminussnadaselude 5.2 fvun (E/E = 8)

A 4

*
The stress change in the steel tendon

E
Ar, =—(Af )

cps

E

c



